Ol Ol ULk, | N O | O ||Do
OO X | 0| > |N|INI|SQ
—|lo|lMm|>|o|d &S
M= OO |g9|gl8
Q= |Z2| x| =|=
g A I = I I 3
=
O Flo|l=|lol|o|& 1:100
O ~l=|=|™||= D
z | C|M| = |2
> | O o m | |>=
M| Un > | < [N S
DO FZ | = _|I< S
> < | = | W
~ > | = 2
= | < |-
j> _
= =
— o
O
3
>
©
3
(0] X (@]
~. & 000]., 190.26 | pompownia Sciekdw P4, Rz.d.=185.0
o~ é’ 350[& S| _2.48[187.88]190.28[ studnia =
~ P ~
N NG N
o
3
g 54.50 2.46]188.05| 190.51|studnia g
~ ~
68.50 2.44 | 188.12|190.56 | kabel telek., Rz.0.=189.70
-
g
O
(@]
89.00 = 2.42|188.22/190.64 |kabel telek., Rz.0.=189.72
O
L | g0 3 2.41/188.26| 190.67 | studnia <L
on P . o
29" Bh300/3 Oyl 2.42|188.28]190.70 | studnia X
- = ¢ kabel telek., Rz.0.=189.76 —
(@)] (@)]
11450 [N 2.44|188.32|190.75 | wod. #150, Rz.0.=189.07
n
o
X _izss50 2.45188.35190.80 | studnia - A
~ ~
&
149.50 |5 2.34|188.42|190.76 | wod. 240, Rz.0.=189.27
158.50 2.30| 188.45] 190.74 | kabel telek., Rz.0.=189.90
(0] oo
~ _[168.50 2.25|188.48 190.73 [ studnia ~
~ 0 ~
P o
o (@]
g 184.50 S | 217/188.53]190.70|studnia g
(0] Y (0]
195.50 2.22|188.64| 190.86 |kabel energ., Rz.0.=189.60
%
N
B
g
o
298.50 coﬂ 2.36]188.97| 191.32 | wod. 940, Rz.0.=189.60
g 934.00 3 2.38189.02 | 191.40 | studnia g
© N 8 ©
-‘8" N
(0] o
< _|249.00 2.28|189.07] 191.35studnia ﬁ%— g
& &
o
259.50|Q 2.27/189.10] 191.37 |kabel telek., Rz.0.=190.24
(@] . (@]
264.00 2.26| 189.11] 191.37 | studnia
= wod. 940, Rz.0.=189.78 =
= |27050|z 2.25| 189.13| 191.38 | wod. 8150, Rz.0.=189.65 -
w
(0] o (0]
< _|277.50 2.24189.15| 191.39 | studnia g
N N
(=]
o0 S (@) o0
< _|290.50 . 2.22| 189.19] 191.41|studnia g
2 N 3
\ﬁos.so Il 2.20(189.23| 191.43 | studnia <
N o o N
o o o
g 312.00|° % 2.21/189.25 191.46 | studnia g
a h kabel telek., Rz.0.=190.45 8
s | o
INGEEV A 3 | 2.21/189.30| 191.51studnia S
O
(@)) (@))
334.00|5 g 2.22|189.32| 191.54 |kabel telek., Rz.0.=190.50
o 8 - o
< _|342.00 3 2.23/189.34 | 191.57 | studnia - <
N o N
=<
o
3
(@] .
N 38300 2.08| 189.60 | 191.68 | studnia
oo
&
~
(@3]
>
g
(0] .
< _|427.50 2.07/189.77] 191.84 | studnia
N
(€]
5
S
o .
< _|459.50 2,05 189.93| 191.98 | studnia
o o
L2 [466.00| 2.13|189.96| 192.09studnia
(@N]
&
S
(0] .
~ 489.00 210/ 190.08 192.18 | studnia
N
>
& 8
o
22 “s07.00 2.08] 190.17]192.25 | studnia
oocb):ll P~ wod. 8150, Rz.0.=190.59
< 514.50|3 2.26| 190.21] 192.47 [ studnia
(_I;‘ wod. 840, Rz.0.=190.64
&
S
(0] oo
< _|539.50 2.22190.33]192.55 | studnia Ng
(@N] B N
P o
(@] © e (@]
< _|555.50 3 2.19| 190.41] 192.60 | studnia N
83‘ o ; wod. #40, Rz.0.=191.16 83‘
(0] A (@]
g 564.00|2 Se|_ 2.31 190.51]192.82 | studnia g
W wod. #7150, Rz.0.=191.16 W
~ o ~
(0] g (@]
< _|577.50 2.48|190.68 | 193.16 | studnia L\
(N (N
(0] (@]
=
: %
g S
(@] (@]
<. _|608.50 3 2.24 191.05] 193.29| studnia N
N (V]
© ©
213217 |¢
21@ |R |3 |28
Slz|m|E |2
s |z |s g |%
Fl>|a|® | S
< |53 :
SlelE| |z
E

¥4

sA1IN







ERROR synt axerror
OFFENDI NG COVMAND: - -nostri ngval - -

STACK:
/Title

()

/ Subj ect

(D:20160313162728+01' 00")
ModDat e

/
()

/ Keywor ds

(PDFCreat or Version 0.9.5)
/ Creat or
(D:20160313162728+01' 00")
/ CreationDate

(1 ogowani e)

/ Aut hor
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